
DIBUJO NOMBRE PERÍMETRO ÁREA 

 

Cuadrado P = L + L + L + L  →   P = 4L A = L * L   →    A = L2 

 

Rectángulo 

P = b + h + b + h →  P = 2b + 2h 

P = 2(b + h) 

A = b * h 

 

Paralelogramo 

P = b + c + b + c →  P = 2b + 2c 

P = 2(b + c) 

A = b * h 

 

Triángulo P = a + b + h 𝑨 =  
𝒃 ∗ 𝒉

𝟐
 

 

Rombo P = L + L + L + L  →   P = 4L 𝑨 =  
𝑫 ∗ 𝒅

𝟐
 

 

Cometa 

P = a + b + a + b →  P = 2a + 2b 

P = 2(a + b) 

𝑨 =  
𝑫 ∗ 𝒅

𝟐
 



 

Trapecio P = B + b + L +L 𝑨 =  
(𝑩 + 𝒃) ∗ 𝒉

𝟐
 

 

Pentágono P = L + L + L + L + L  →   P = 5L 𝑨 =  
𝑷 ∗ 𝒂

𝟐
 

 

Hexágono P = L + L + L + L + L + L  →   P = 6L 𝑨 =  
𝑷 ∗ 𝒂

𝟐
 

 

Círculo 𝑃 = 2𝜋𝑟 𝑃 = 𝜋𝑟2
 

 


